Name: Date:
Teacher: Class:

Across-Down 605

How did the elephant do in the race? He won by a nose.

Complete the puzzles.
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Answer Key

Date:

Teacher:

Class:

Across-Down 605

How did the elephant do in the race? He won by a nose.

Complete the puzzles.

Als7| + 37| + | 27| = [101| B|6e6| - |29] - |28 9
+ + + + - - - -
36| + (24| + 25| = |85 31 6| -1(19 6
+ + + + - - - -
22 + 16| + |37 = |75 11 6| -3 2
o5 + |77 + |89 = (261 24 171 - | 6 1

Clar| - |6 |+ |31 =|56|P]26 2| + (33| = |57
- + - + - + - +
6|+ |39 -[12] =133 2 35| - |14 23
+ - + + + - + +
14| - | 6| + |50 = |58 31 11| + [ 40 60
39| + |39 + [69]| = |147 55 26| + | 59 140
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